
QUANTECH 37

FORM QWC4-RP1 
ISSUE DATE: 02/28/2021

Table 10 - COMPRESSOR STEP VI PIPING

ITEM DESCRIPTION
QUANTECH 

PART  
NUMBER

SAP PART 
NUMBER QUANTITY FIGURE

1 Bracket, Piping Step VI 075-93335-000 648507 2 18
2 Bracket, Piping Step VI 075-93335-001 648508 2 18
3 Screw, Cap Hex Head 16 X 2.6G 021-19179-000 730391 8 18
4 Washer, Plain 11/16"ID X 1-3/4"OD 021-16142-000 729906 8 18
5 Screw, Hex Head Cap 1/4"-20 X 3/4" Gr 5 Emp 021-19313-012 730445 12 18
6 Washer, Plain 0.265"ID X 1/2"OD 021-10189-000 156429 12 18
7 Nut, Self Lock Hex 1/4"-20UNC-2B 021-31953-000 730782 12 18
8 Valve, Solenoid Din Coil 025-35151-000 739141 4 18
9 Valve, 180, Solenoid 025-43901-000 648515 4 18

10 Nut, Flange Short Forged 45 021-05661-000 147571 12 18
11 Clamp, Tube 7/8" OD 021-11452-000 648520 2 18
12 Fitting, 37 Deg Flared Tube 023-25192-000 648516 10 18
13 O-Ring, Neo1, 0.644"ID 0.087"Thk 028-12961-004 588819 12 18

14
Tube, Step VI, 1/4" OD x 0.049 wall 075-94028-007 648514 2

18
Tube, Copper, 1/4" OD x 0.049 wall 007-02085-000 728167 20'

15 Tee, Solid C X C X C 1/4" 023-04606-000 371718 2 18
16 Clamp, Tube 1/4" OD 021-13066-000 148499 4 18
17 Screw, Mach Pan Head Recessed 1" 021-01719-000 729378 4 18
18 Nut, Self Lock Hex #8-32UNC-2B 021-33161-000 648519 4 18

19
Tube, Step VI, SST 1/4" OD x 0.049 wall 075-94028-001 648509 4

18
Tube, SST, 1/4" OD x 0.049 wall 003-02412-000 727790 8-12'

20
Tube, Step VI, 1/4" OD x 0.049 wall 075-94028-005 648512 2

18
Tube, Copper 1/4" OD x 0.049 wall 007-02085-000 728167 20'

22

Tube, Step VI, 1/4" OD x 0.049 wall,  
(Pin 9 & 10 = FX) 075-94028-003 648510 2

18

Tube, Copper 1/4" OD x 0.049 wall,  
(Pin 9 & 10 = FX) 007-02085-000 728167 20'

Tube, Step VI, 1/4" OD x 0.049 wall,  
(Pin 9 & 10 = GX) 075-94028-011 681558 2

Tube, Copper 1/4" OD x 0.049 wall,  
(Pin 9 & 10 = GX) 007-02085-000 728167 20'

23

Copper, Tube Step VI (136) (1/4" OD x 0.049 wall), 
(Pin 9 & 10 = EE) 075-94028-505 830619 2

18

Tube, Copper 1/4" OD x 0.049 wall,  
(Pin 9 & 10 = EE) 007-02085-000 728167 20'

Copper, Tube Step VI (145) (1/4" OD x 0.049 wall), 
(Pin 9 & 10 = FE) 075-94028-506 830620 2

Tube, Copper 1/4" OD x 0.049 wall,  
(Pin 9 & 10 = FE) 007-02085-000 728167 20'

Copper, Tube Step VI (145) (1/4" OD x 0.049 wall), 
(Pin 9 & 10 = FF) 075-94028-507 861273 2

18
Tube, Copper 1/4" OD x 0.049 wall,  
(Pin 9 & 10 = FF) 007-02085-000 728167 20'

24 Tee, Unf(F) 0.750In Unf(F) 0.750 Unf(M) 023-25549-000 827494 2 18

NOTE: Items with an * are NOT represented.




